
When to bid slamWhen to bid slamWhen to bid slamWhen to bid slam

• Slams are rare. About 1-in-20 hands.

• 6NT requires 33 HCP 

• Slam in a suit needs a fit a fit a fit a fit 

plus 33 TPTPTPTP

plus controlcontrolcontrolcontrol of all suits
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1.

Arithmetic

20 + 13 = 33
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{KQ52

6NT ?

2.

Invite slam.

15-17 + 16 = 31-33.

Partner can pass this.
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3.

Another easy one.

The jump to 2NT = 18-19

18+15 = 33
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4.

Stayman first, then

15 + 18 TP = 33.

Prefer the 4-4 fit.
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4a.

WESTWESTWESTWEST NORTHNORTHNORTHNORTH EASTEASTEASTEAST SOUTHSOUTHSOUTHSOUTH

1NT1NT1NT1NT

2♠2♠2♠2♠

2222♣♣♣♣

6♠6♠6♠6♠

6NT makes 11 tricks

but 6♠ makes 12 tricks.
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5.

Partners jump shows 19+.

19 + 12 = 31

but 19 + 12 + 3+ 3+ 3+ 3 = 34343434

3 for the singleton.
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6♠
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1♠ 4NT

5a.

South checks that the 

opponents don’t have two 

aces.

North shows 2 aces.
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4♠
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4NT BlackwoodBlackwoodBlackwoodBlackwood, then

5♣ = 0 aces (or 4)

4} = 1

5[ = 2

5♠ = 3

5[

6♠ ?

6.

Just game. 2♠ = 12-15.

15 + 15 + 1 = 31.

If partner had jumped to 

3♠, slam would be likely.
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